ALGEBRA I EXAM 2.2

1.	Write the (a) slope-intercept form (b) point-slope form of the equation of the line below.	(2 points)

2.	Write an equation of the line that passes through the pair of points:  (1, 7), (10, 1)		(2 points)

3.	Graph the lines:		(a)	y = x – 8						(2 points)
(b)	y – 3 = ½(x + 4)					(2 points)
(c)	-4x – 6y = 36						(2 points)
(d)	x = -3							(2 points)

          4.		The grocery store sells kumquats for $45 a pound and Asian pears for $20 a pound. (a) Write an equation for the weights of kumquats x and Asian pears y that a customer could buy with $180.  (b) Graph the relationship.										(3 points)

          5.		Are the graphs of y = x + 8 and –2x + 12y = –11 parallel?				(1 point)
	A.
	Yes, since the slope are the same and the y-intercepts are the same.

	B.
	No, since the y-intercepts are different.

	C.
	Yes, since the slope are the same and the y-intercepts are different.

	D.
	No, since the slopes are different.



       








	6.	The line on the graph below shows the travel path of hot air balloon A.  (i) Write an equation to represent the travel path of hot air balloon B, which is travelling parallel to balloon A, and is going through the circular point.  (ii) The pilot of balloon A shoots fireworks from the balloon.  If the fireworks travel perpendicular to the balloon and pass through the rectangular point, write an equation to represent the travel path of the fireworks. 							(3 points)
				
	
	7.	Sketch the graph of y = |x – 2| – 5  						(1 point)

	8.	Solve the system by graphing:	y = 2x – 3					(3 points)
						y = -x + 3

For questions 9-12, write a system of linear equations to represent the situation then solve the system.
	
	9.	John paid $34 for two algebra and three geometry books. He paid $36 for three algebra and two geometry books. What is the cost of each book?					(3 points)

	10.	Suppose you have 12 coins that total $0.32.  Some of the coins are nickels and the rest are pennies.  How many of each coin do you have?							(3 points)

	11.	Fruit drink A consists of 6% pure fruit juice and drink B consists of 15% pure fruit juice.  How much of each kind of drink should you mix together to get 4L of a 10% concentration of fruit juice?    (3 points)

	12.	Suppose you invest $10,410 in equipment to manufacture a new board game.  Each game costs $2.65 to manufacture and sells for $20.  How many games must you make and sell before your business breaks even?										(2 points)


____	13.	Which graph shows the best trend line for the following data.		(1 point)

	A.
	
	B.
	

	C.
	
	D.
	



	
	
	14.	Use the TI to write the equation of the line of best fit for the data in question 13 to the nearest tenth.											 (2 points)

	15.	An electronics store makes a profit of $72 for every standard CD player sold and $90 for every portable CD player sold. The manager’s target is to make at least $360 a day on sales from standard and portable CD players.  (a) Write and graph an inequality that represents the numbers of both kinds of CD players that can be sold to reach or exceed the sales target.  (b)  Write three possible combinations of CD players that the store can sell to reach the manager’s goal.					(4 points)
	
	16.	Use graph paper to solve the following system of linear inequalities by graphing.     	(4 points)
				y < x + 4
							



	17.	Write the inequalities in the graphs below:						(3 points)
	                           (a)					   (b)					  (c)

	

	18.	Write a system of inequalities for the graph below.				             (3 points)

                                   		



BONUS:
A local citizen wants to fence a rectangular community garden. The length of the garden should be at least 110 ft, and the distance around should be no more than 380 ft.			
	a.
	Write a system of inequalities that models the possible dimensions of the garden.

	b.
	Graph the system to show all possible solutions.
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